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Decide whether each sequence is arithmetic. 

 

Find the first six terms and common difference of each arithmetic sequence. 

 

Find the specified term of each arithmetic sequence. 

1.  𝟑, 𝟏𝟒, 𝟐𝟓, 𝟑𝟔 … … … … …    
 
 
 

2.  −𝟐, −𝟖, −𝟏𝟒, −𝟐𝟎 … … ….   
 
 
 

3.  𝒂𝒏 = 𝒏 − 𝟏𝟎  
 
 
 
 
 
 
 
 

4.  𝒂𝒏 = 𝟏𝟎 − 𝟓𝒏   
 
 
 
 
 
 
 
 

5.  𝒂𝟏 = 𝟔,    𝒅 = −𝟒 
𝟓𝟔𝒕𝒉 𝒕𝒆𝒓𝒎 =? 
 

 
 
 
 
 
 
 

6.  𝟏𝟏, 𝟎, −𝟏𝟏, −𝟐𝟐 … … … …. 
 𝟏𝟔𝒕𝒉 𝒕𝒆𝒓𝒎 =? 
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Find the specified value for the arithmetic sequence with the given characteristics. 

7.  𝒂𝟏𝟔 = 𝟓𝟐,    𝒅 = −𝟐      
𝒂𝟏 =?  

 
 
 
 
 
 
 
 
 

8.  𝒂𝟏𝟐 = 𝟐𝟐,    𝒅 = 𝟐      
𝒂𝟏 =? 

 
 
 
 
 
 
 
 
 

9.  𝒂𝟏𝟎 = 𝟐𝟒,   𝒂𝟏 = −𝟑      
𝒅 =?  

 
 
 
 
 
 
 
 
 

10.  𝒂𝟏𝟒 = 𝟐𝟕,   𝒂𝟏 = 𝟏      
𝒅 =?  

 
 
 
 
 
 
 
 
 

11.  𝒂𝒏 = −𝟒𝟎,   𝒂𝟏 = 𝟐𝟎, 𝒅 = −𝟓     
𝒏 =?  

 
 
 
 
 
 
 
 
 



Name: _________________________________________________ Period: ___________ Date: ________________ 

Arithmetic Sequences and Series Assignment 

Copyright © PreCalculusCoach.com   3                       

Find the indicated arithmetic means for each set of nonconsecutive terms. 

12.  𝒂𝒏 = 𝟏𝟎𝟎,   𝒂𝟏 = 𝟑𝟓,     𝒅 = 𝟓 
𝒏 =?  

 
 
 
 
 
 
 
 
 
 

13.  𝟑 𝒎𝒆𝒂𝒏𝒔,   𝟏𝟎 𝒂𝒏𝒅  𝟑𝟒 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
  
 
 
 

14. 𝟓 𝒎𝒆𝒂𝒏𝒔, −𝟏𝟐 𝒂𝒏𝒅  𝟑𝟔 
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Find the indicated sum for each arithmetic sequence. 

15.  𝟏𝟎𝒕𝒉 𝒑𝒂𝒓𝒕𝒊𝒂𝒍 𝒔𝒖𝒎   𝒊𝒇:  𝒂𝟏 = 𝟑,    𝒅 = 𝟏𝟐 
𝑺𝟏𝟎 =? 
 

16. 
 

𝟏𝟖𝒕𝒉 𝒑𝒂𝒓𝒕𝒊𝒂𝒍 𝒔𝒖𝒎 𝒐𝒇 − 𝟓, 𝟓, 𝟏𝟓, 𝟐𝟓 … … … ….   
𝑺𝟏𝟖 =? 

    
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

17. 𝟖 + 𝟏𝟐 + 𝟏𝟔 + ⋯ … … … + 𝟏𝟐𝟖 
 

18. 𝟏

𝟐
+ 𝟏 + 𝟏

𝟏

𝟐
+ ⋯ … … … + 𝟔

𝟏

𝟐
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Write each arithmetic series in sigma notation. The lower bound is given. 

 

Find each common difference. 

 

19.  𝟐 + 𝟏𝟐 + 𝟐𝟐 + ⋯ … … … + 𝟒𝟏𝟐            𝒏 = 𝟏  
 

20. 𝟏𝟔 + 𝟐𝟎 + 𝟐𝟒 + ⋯ … … … + 𝟗𝟔               𝒏 = 𝟏  

 
   

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

21.  
∑(𝟐𝟎 + 𝟑𝒏)

𝟏𝟎

𝒏=𝟓

 
22. 𝒂𝟏𝟐 = 𝟐𝟏                𝑺𝟏𝟐 = 𝟏𝟖𝟔 
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ANSWERS 
Decide whether each sequence is arithmetic. 

 

Find the first six terms and common difference of each arithmetic sequence. 

Find the specified term of each arithmetic sequence. 

1.  𝟑, 𝟏𝟒, 𝟐𝟓, 𝟑𝟔 … … … … …   𝟏𝟒 − 𝟑 = 𝟏𝟏 
𝟐𝟓 − 𝟏𝟒 = 𝟏𝟏   
𝟑𝟔 − 𝟐𝟓 = 𝟏𝟏  
𝒅 = 𝟏𝟏 
This sequence is arithmetic. 

2.  −𝟐, −𝟖, −𝟏𝟒, −𝟐𝟎 … … ….  −𝟖 − (−𝟐) = −𝟖 + 𝟐 = −𝟔 
−𝟏𝟒 − (−𝟖) = −𝟏𝟒 + 𝟖 = −𝟔   
−𝟐𝟎 − (−𝟏𝟒) = −𝟐𝟎 + 𝟏𝟒 = −𝟔  
𝒅 = −𝟔 
This sequence is arithmetic. 

3.  𝒂𝒏 = 𝒏 − 𝟏𝟎 𝒂𝟏 = 𝟏 − 𝟏𝟎 = −𝟗    
𝒂𝟐 = 𝟐 − 𝟏𝟎 = −𝟖 
𝒂𝟑 = 𝟑 − 𝟏𝟎 = −𝟕 
𝒂𝟒 = 𝟒 − 𝟏𝟎 = −𝟔 
𝒂𝟓 = 𝟓 − 𝟏𝟎 = −𝟓 
𝒂𝟔 = 𝟔 − 𝟏𝟎 = −𝟒 
𝒅 = −𝟒 − (−𝟓) = −𝟒 + 𝟓 = 𝟏 
𝒅 = 𝟏 
 

4.  𝒂𝒏 = 𝟏𝟎 − 𝟓𝒏  𝒂𝟏 = 𝟏𝟎 − 𝟓 ∗ 𝟏 = 𝟏𝟎 − 𝟓 = 𝟓    
𝒂𝟐 = 𝟏𝟎 − 𝟓 ∗ 𝟐 = 𝟏𝟎 − 𝟏𝟎 = 𝟎 
𝒂𝟑 = 𝟏𝟎 − 𝟓 ∗ 𝟑 = 𝟏𝟎 − 𝟏𝟓 = −𝟓 
𝒂𝟒 = 𝟏𝟎 − 𝟓 ∗ 𝟒 = 𝟏𝟎 − 𝟐𝟎 = −𝟏𝟎 
𝒂𝟓 = 𝟏𝟎 − 𝟓 ∗ 𝟓 = 𝟏𝟎 − 𝟐𝟓 = −𝟏𝟓 
𝒂𝟔 = 𝟏𝟎 − 𝟓 ∗ 𝟔 = 𝟏𝟎 − 𝟑𝟎 = −𝟐𝟎 
𝒅 = −𝟐𝟎 − (−𝟏𝟓) = −𝟐𝟎 + 𝟏𝟓 = −𝟓 
𝒅 = −𝟓 
 

5.  𝒂𝟏 = 𝟔,    𝒅 = −𝟒 
𝟓𝟔𝒕𝒉 𝒕𝒆𝒓𝒎 =? 
 

𝒂𝟏 = 𝟔,    𝒅 = −𝟒,        𝒏 = 𝟓𝟔 
 
𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅 
𝒂𝟓𝟔 = 𝟔 + (𝟓𝟔 − 𝟏) ∗ (−𝟒)  
𝒂𝟓𝟔 = 𝟔 + 𝟓𝟓 ∗ (−𝟒)  
𝒂𝟓𝟔 = 𝟔 − 𝟐𝟐𝟎 
𝒂𝟓𝟔 = −𝟐𝟏𝟒 

6.  𝟏𝟏, 𝟎, −𝟏𝟏, −𝟐𝟐 … … … …. 
 𝟏𝟔𝒕𝒉 𝒕𝒆𝒓𝒎 =? 
 

𝒂𝟏 = 𝟏𝟏        𝒅 = 𝟏𝟏        𝒏 = 𝟏𝟔 
 
𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅 
𝒂𝟏𝟔 = 𝟏𝟏 + (𝟏𝟔 − 𝟏) ∗ 𝟏𝟏  
𝒂𝟏𝟔 = 𝟏𝟏 + 𝟏𝟓 ∗ 𝟏𝟏 
𝒂𝟏𝟔 = 𝟏𝟏 + 𝟏𝟔𝟓 
𝒂𝟏𝟔 = 𝟏𝟕𝟔 
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Find the specified value for the arithmetic sequence with the given characteristics. 

7.  𝒂𝟏𝟔 = 𝟓𝟐,    𝒅 = −𝟐      
𝒂𝟏 =?  

𝒂𝟏𝟔 = 𝟓𝟐,    𝒅 = −𝟐,      𝒏 = 𝟏𝟔 
 
𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅 
𝒂𝟓𝟔 = 𝒂𝟏 + (𝟏𝟔 − 𝟏) ∗ (−𝟐)  
𝟓𝟐 = 𝒂𝟏 + (𝟏𝟔 − 𝟏) ∗ (−𝟐)  
𝟓𝟐 = 𝒂𝟏 + 𝟏𝟓 ∗ (−𝟐) 
𝟓𝟐 = 𝒂𝟏 − 𝟑𝟎 
𝒂𝟏 = 𝟖𝟐 
 

8.  𝒂𝟏𝟐 = 𝟐𝟐,    𝒅 = 𝟐      
𝒂𝟏 =? 

𝒂𝟏𝟔 = 𝟐𝟐,    𝒅 = 𝟐,      𝒏 = 𝟏𝟐 
 
𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅 
𝒂𝟏𝟔 = 𝒂𝟏 + (𝟏𝟐 − 𝟏) ∗ 𝟐  
𝟐𝟐 = 𝒂𝟏 + 𝟏𝟏 ∗ 𝟐  
𝟐𝟐 = 𝒂𝟏 + 𝟐𝟐𝟐 
𝟐𝟐 − 𝟐𝟐𝟐 = 𝒂𝟏 + 𝟐𝟐𝟐 − 𝟐𝟐𝟐 
𝒂𝟏 = −𝟐𝟎𝟎 
 

9.  𝒂𝟏𝟎 = 𝟐𝟒,   𝒂𝟏 = −𝟑      
𝒅 =?  

𝒂𝟏𝟎 = 𝟐𝟒,   𝒂𝟏 = −𝟑,     𝒏 = 𝟏𝟎 
 
𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅 
𝒂𝟏𝟎 = −𝟑 + (𝟏𝟎 − 𝟏) ∗ 𝒅  
𝟐𝟒 = −𝟑 + 𝟗 ∗ 𝒅  
𝟐𝟒 + 𝟑 = 𝟑 − 𝟑 + 𝟗 ∗ 𝒅 
𝟐𝟕 = 𝟗 ∗ 𝒅 
𝒅 = 𝟑 
 

10.  𝒂𝟏𝟒 = 𝟐𝟕,   𝒂𝟏 = 𝟏      
𝒅 =?  

𝒂𝟏𝟒 = 𝟐𝟕,   𝒂𝟏 = 𝟏,      𝒏 = 𝟏𝟒 
 
𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅 
𝒂𝟏𝟒 = 𝟏 + (𝟏𝟒 − 𝟏) ∗ 𝒅  
𝟐𝟕 = 𝟏 + 𝟏𝟑 ∗ 𝒅  
𝟐𝟕 − 𝟏 = 𝟏 − 𝟏 + 𝟏𝟑 ∗ 𝒅 
𝟐𝟔 = 𝟏𝟑 ∗ 𝒅 
𝒅 = 𝟐 
 

11.  𝒂𝒏 = −𝟒𝟎,   𝒂𝟏 = 𝟐𝟎, 𝒅 = −𝟓     
𝒏 =?  

𝒂𝒏 = −𝟒𝟎,   𝒂𝟏 = 𝟐𝟎,      𝒅 = −𝟓 
 
𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅 
−𝟒𝟎 = 𝟐𝟎 + (𝒏 − 𝟏) ∗ (−𝟓)  
−𝟒𝟎 − 𝟐𝟎 = 𝟐𝟎 − 𝟐𝟎 + (𝒏 − 𝟏) ∗ (−𝟓)  
−𝟔𝟎 = (𝒏 − 𝟏) ∗ (−𝟓) 

𝒏 − 𝟏 =
−𝟔𝟎

−𝟓
 

𝒏 − 𝟏 = 𝟏𝟐 
𝒏 = 𝟏𝟑 
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Find the indicated arithmetic means for each set of nonconsecutive terms. 

12.  𝒂𝒏 = 𝟏𝟎𝟎,   𝒂𝟏 = 𝟑𝟓,     𝒅 = 𝟓 
𝒏 =?  

𝒂𝒏 = 𝟏𝟎𝟎,   𝒂𝟏 = 𝟑𝟓,     𝒅 = 𝟓 
 
𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅 
𝟏𝟎𝟎 = 𝟑𝟓 + (𝒏 − 𝟏) ∗ 𝟓  
𝟏𝟎𝟎 − 𝟑𝟓 = 𝟑𝟓 − 𝟑𝟓 + (𝒏 − 𝟏) ∗ 𝟓  
𝟔𝟓 = (𝒏 − 𝟏) ∗ 𝟓 

𝒏 − 𝟏 =
𝟔𝟓

𝟓
 

𝒏 − 𝟏 = 𝟏𝟑 
𝒏 = 𝟏𝟒 
 

13.  𝟑 𝒎𝒆𝒂𝒏𝒔,   𝟏𝟎 𝒂𝒏𝒅  𝟑𝟒 
 

𝟑 𝒎𝒆𝒂𝒏𝒔   𝟏𝟎 𝒂𝒏𝒅  𝟑𝟒 
𝟏𝟎, ____, _____, _____, 𝟑𝟒  
 
𝒂𝟏 = 𝟏𝟎        𝒂𝟓 = 𝟑𝟒 
 
𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅 
𝒂𝟓 = 𝒂𝟏 + (𝟓 − 𝟏)𝒅 
𝟑𝟒 = 𝟏𝟎 + 𝟒𝒅 
𝟑𝟒 − 𝟏𝟎 = 𝟏𝟎 − 𝟏𝟎 + 𝟒𝒅 
𝟐𝟒 = 𝟒𝒅 
𝒅 = 𝟔 
𝒂𝟐 = 𝒂𝟏 + 𝒅 = 𝟏𝟎 + 𝟔 = 𝟏𝟔 
𝒂𝟑 = 𝒂𝟐 + 𝒅 = 𝟏𝟔 + 𝟔 = 𝟐𝟐 
𝒂𝟒 = 𝒂𝟑 + 𝒅 = 𝟐𝟐 + 𝟔 = 𝟐𝟖 
𝟏𝟎, 𝟏𝟔, 𝟐𝟐, 𝟐𝟖, 𝟑𝟒  
 

14. 𝟓 𝒎𝒆𝒂𝒏𝒔, −𝟏𝟐 𝒂𝒏𝒅  𝟑𝟔 
  
 

𝟓 𝒎𝒆𝒂𝒏𝒔  − 𝟏𝟐 𝒂𝒏𝒅  𝟑𝟔 
−𝟏𝟐, ____, _____, _____, _____, _____, 𝟑𝟔  
 
𝒂𝟏 = −𝟏𝟐        𝒂𝟕 = 𝟑𝟔 
 
𝒂𝒏 = 𝒂𝟏 + (𝟕 − 𝟏)𝒅 
𝒂𝟕 = 𝒂𝟏 + (𝟕 − 𝟏)𝒅 
𝟑𝟔 = −𝟏𝟐 + 𝟔𝒅 
𝟑𝟔 + 𝟏𝟐 = −𝟏𝟐 + 𝟏𝟐 + 𝟔𝒅 
𝟒𝟖 = 𝟔𝒅 
𝒅 = 𝟖 
𝒂𝟐 = 𝒂𝟏 + 𝒅 = −𝟏𝟐 + 𝟖 = −𝟒 
𝒂𝟑 = 𝒂𝟐 + 𝒅 = −𝟒 + 𝟖 = 𝟒 
𝒂𝟒 = 𝒂𝟑 + 𝒅 = 𝟒 + 𝟖 = 𝟏𝟐 
𝒂𝟓 = 𝒂𝟒 + 𝒅 = 𝟏𝟐 + 𝟖 = 𝟐𝟎 
𝒂𝟔 = 𝒂𝟓 + 𝒅 = 𝟐𝟎 + 𝟖 = 𝟐𝟖 
 
−𝟏𝟐, −𝟒, 𝟒, 𝟏𝟐, 𝟐𝟎, 𝟐𝟖, 𝟑𝟔  
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Find the indicated sum for each arithmetic sequence. 

15.  𝟏𝟎𝒕𝒉 𝒑𝒂𝒓𝒕𝒊𝒂𝒍 𝒔𝒖𝒎   𝒊𝒇:  𝒂𝟏 = 𝟑,    𝒅 = 𝟏𝟐 
𝑺𝟏𝟎 =? 
 

16. 
 

𝟏𝟖𝒕𝒉 𝒑𝒂𝒓𝒕𝒊𝒂𝒍 𝒔𝒖𝒎 𝒐𝒇 − 𝟓, 𝟓, 𝟏𝟓, 𝟐𝟓 … … … ….   
𝑺𝟏𝟖 =? 

 𝒂𝟏 = 𝟑,    𝒅 = 𝟏𝟐,     𝒏 = 𝟏𝟎 

𝑺𝒏 =
𝒏

𝟐
(𝟐𝒂𝟏 + (𝒏 − 𝟏) ∗ 𝒅)   

𝑺𝟏𝟎 =
𝟏𝟎

𝟐
(𝟐 ∗ 𝟑 + (𝟏𝟎 − 𝟏) ∗ 𝟏𝟐)  

𝑺𝟏𝟎 =
𝟏𝟎

𝟐
(𝟔 + 𝟗 ∗ 𝟏𝟐)  

𝑺𝟏𝟎 =
𝟏𝟎

𝟐
(𝟔 + 𝟏𝟎𝟖) 

𝑺𝟏𝟎 =
𝟏𝟎

𝟐
∗ 𝟏𝟏𝟒 

𝑺𝟏𝟎 = 𝟓 ∗ 𝟏𝟏𝟒 
𝑺𝟏𝟎 = 𝟓𝟕𝟎 

 𝒂𝟏 = −𝟓,          𝒏 = 𝟏𝟖 
𝒅 = 𝟏𝟓 − 𝟓 
𝒅 = 𝟏𝟎 

𝑺𝒏 =
𝒏

𝟐
(𝟐𝒂𝟏 + (𝒏 − 𝟏) ∗ 𝒅)   

𝑺𝟏𝟖 =
𝟏𝟖

𝟐
(𝟐 ∗ (−𝟓) + (𝟏𝟖 − 𝟏) ∗ 𝟏𝟎)  

𝑺𝟏𝟖 =
𝟏𝟖

𝟐
(−𝟏𝟎 + 𝟏𝟕 ∗ 𝟏𝟎) 

𝑺𝟏𝟖 =
𝟏𝟖

𝟐
(−𝟏𝟎 + 𝟏𝟕𝟎) 

𝑺𝟏𝟖 =
𝟏𝟖

𝟐
∗ 𝟏𝟔𝟎 

𝑺𝟏𝟖 = 𝟗 ∗ 𝟏𝟔𝟎 
𝑺𝟏𝟖 = 𝟏, 𝟒𝟒𝟎 
 

17. 𝟖 + 𝟏𝟐 + 𝟏𝟔 + ⋯ … … … + 𝟏𝟐𝟖 
 

18. 𝟏

𝟐
+ 𝟏 + 𝟏

𝟏

𝟐
+ ⋯ … … … + 𝟔

𝟏

𝟐
 

 
 𝒂𝟏 = 𝟖,         𝒂𝒏 = 𝟏𝟐𝟖  

𝒅 = 𝟏𝟔 − 𝟏𝟐 
𝒅 = 𝟒 
 
𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅 
𝟏𝟐𝟖 = 𝟖 + (𝒏 − 𝟏) ∗ 𝟒  
𝟏𝟐𝟖 − 𝟖 = −𝟖 + 𝟖 + (𝒏 − 𝟏) ∗ 𝟒  
𝟏𝟐𝟎 = (𝒏 − 𝟏) ∗ 𝟒 

𝒏 − 𝟏 =
𝟏𝟐𝟎

𝟒
 

𝒏 − 𝟏 = 𝟑𝟎 
𝒏 = 𝟑𝟏 
 

𝑺𝒏 =
𝒏

𝟐
(𝒂𝟏 + 𝒂𝒏)                       

𝑺𝟑𝟏 =
𝟑𝟏

𝟐
(𝟖 + 𝟏𝟐𝟖) 

𝑺𝟑𝟏 = 𝟏𝟓. 𝟓 ∗ 𝟏𝟑𝟔 
𝑺𝟑𝟏 = 𝟐, 𝟏𝟎𝟖 
 

 
𝒂𝟏 =

𝟏

𝟐
,         𝒂𝒏 = 𝟔

𝟏

𝟐
  

𝒅 = 𝟏
𝟏

𝟐
− 𝟏 

𝒅 =
𝟏

𝟐
 

𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅 

𝟔
𝟏

𝟐
=

𝟏

𝟐
+ (𝒏 − 𝟏) ∗

𝟏

𝟐
  

𝟔
𝟏

𝟐
−

𝟏

𝟐
=

𝟏

𝟐
−

𝟏

𝟐
+ (𝒏 − 𝟏) ∗

𝟏

𝟐
  

𝟔 = (𝒏 − 𝟏) ∗
𝟏

𝟐
 

𝒏 − 𝟏 =
𝟔

𝟏
𝟐

 

𝒏 − 𝟏 = 𝟏𝟐 
𝒏 = 𝟏𝟑 

𝑺𝒏 =
𝒏

𝟐
(𝒂𝟏 + 𝒂𝒏)                       

𝑺𝟏𝟑 =
𝟏𝟑

𝟐
(

𝟏

𝟐
+ 𝟔

𝟏

𝟐
) 

𝑺𝟏𝟑 =
𝟏𝟑

𝟐
∗ 𝟕 

𝑺𝟏𝟑 =
𝟗𝟏

𝟐
= 𝟒𝟓. 𝟓 
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Write each arithmetic series in sigma notation. The lower bound is given. 

 

Find each common difference. 

 

 

19.  𝟐 + 𝟏𝟐 + 𝟐𝟐 + ⋯ … … … + 𝟒𝟏𝟐            𝒏 = 𝟏  
 

20. 𝟏𝟔 + 𝟐𝟎 + 𝟐𝟒 + ⋯ … … … + 𝟗𝟔               𝒏 = 𝟏  

 
 𝒂𝟏 = 𝟐 

𝒅 = 𝟏𝟐 − 𝟐   
𝒅 = 𝟏𝟎 
𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅 
𝟒𝟏𝟐 = 𝟐 + (𝒏 − 𝟏) ∗ 𝟏𝟎   
𝟒𝟏𝟐 − 𝟐 = 𝟐 − 𝟐 + (𝒏 − 𝟏) ∗ 𝟏𝟎  
𝟒𝟏𝟎 = (𝒏 − 𝟏) ∗ 𝟏𝟎   

𝒏 − 𝟏 =
𝟒𝟏𝟎

𝟏𝟎
  

𝒏 − 𝟏 = 𝟒𝟏   
𝒏 = 𝟒𝟐  
𝒂𝒏 = 𝟐 + (𝒏 − 𝟏)𝟏𝟎 
𝒂𝒏 = 𝟐 + 𝟏𝟎𝒏 − 𝟏𝟎 
𝒂𝒏 = −𝟖 + 𝟏𝟎𝒏 

∑(−𝟖 + 𝟏𝟎𝒏)

𝟒𝟐

𝒏=𝟏

 

 
 

𝒂𝟏 = 𝟏𝟔 
𝒅 = 𝟐𝟒 − 𝟐𝟎   
𝒅 = 𝟒 
𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅 
𝟗𝟔 = 𝟏𝟔 + (𝒏 − 𝟏) ∗ 𝟒   
𝟗𝟔 − 𝟏𝟔 = 𝟏𝟔 − 𝟏𝟔 + (𝒏 − 𝟏) ∗ 𝟒  
𝟖𝟎 = (𝒏 − 𝟏) ∗ 𝟒   

𝒏 − 𝟏 =
𝟖𝟎

𝟒
  

𝒏 − 𝟏 = 𝟐𝟎   
𝒏 = 𝟐𝟏  
𝒂𝒏 = 𝟏𝟔 + (𝒏 − 𝟏)𝟒 
𝒂𝒏 = 𝟏𝟔 + 𝟒𝒏 − 𝟒 
𝒂𝒏 = 𝟏𝟐 + 𝟒𝒏 

∑(𝟏𝟐 + 𝟒𝒏)

𝟐𝟏

𝒏=𝟏

 

21.  
∑(𝟐𝟎 + 𝟑𝒏)

𝟏𝟎

𝒏=𝟓

 
22. 𝒂𝟏𝟐 = 𝟐𝟏                𝑺𝟏𝟐 = 𝟏𝟖𝟔 

 

 𝒂𝟓 = 𝟐𝟎 + 𝟑 ∗ 𝟓 = 𝟐𝟎 + 𝟏𝟓 = 𝟑𝟓 
𝒂𝟔 = 𝟐𝟎 + 𝟑 ∗ 𝟔 = 𝟐𝟎 + 𝟏𝟖 = 𝟑𝟖 
𝒅 = 𝒂𝟔 − 𝒂𝟓 
𝒅 = 𝟑𝟖 − 𝟑𝟓 
𝒅 = 𝟑 

 
 

𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅 
𝟐𝟏 = 𝒂𝟏 + (𝟏𝟐 − 𝟏)𝒅 
𝟐𝟏 = 𝒂𝟏 + 𝟏𝟏𝒅 

𝒂𝟏 = 𝟐𝟏 − 𝟏𝟏𝒅  
 

𝑺𝒏 =
𝒏

𝟐
(𝟐𝒂𝟏 + (𝒏 − 𝟏) ∗ 𝒅)  

𝟏𝟖𝟔 =
𝟏𝟐

𝟐
(𝟐(𝟐𝟏 − 𝟏𝟏𝒅) + (𝟏𝟐 − 𝟏) ∗ 𝒅)   

𝟏𝟖𝟔 = 𝟔(𝟒𝟐 − 𝟐𝟐𝒅 + 𝟏𝟏𝒅)  
𝟏𝟖𝟔 = 𝟔(𝟒𝟐 − 𝟏𝟏𝒅) 
𝟏𝟖𝟔 = 𝟐𝟓𝟐 − 𝟔𝟔𝒅 
𝟏𝟖𝟔 − 𝟐𝟓𝟐 = 𝟐𝟓𝟐 − 𝟐𝟓𝟐 − 𝟔𝟔𝒅 
−𝟔𝟔 = −𝟔𝟔𝒅 

𝒅 =
−𝟔𝟔

−𝟔𝟔
 

𝒅 = −𝟏 


